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of turpentine as it does to warm an equal amount of water through

from 70 to 120
,
how much will the temperature of an equal weightof turpentine be raised under like conditions ?

a. The brightness with which any surface is illuminated by a

tanca from that source. One person holds his ^k H ft. from

Lm Tif^^T "°P-, ^°^ ^" "^'^^^ ^°*^«^ ^oW his bookfrom a 16 candle-power lamp that the page may be as brightly
lighted as in the first case?

r-e j «. ongnriy

wfr« r/r' r""f^ ^^*^ *^^ «^"^^« °^ '^' diameter of the

4 Resistance varies inversely with the conducting power. The

''*'"1r,L"^.r''''
°^ "^PP"' ^' ^' *^** °^ »«'«»a° silver 7.5. Whatwould be the resistance of pieces of German silver wire of like

dimensions m each part of preceding question ?

diU.«T'^^I °^ ^''! ^^^^ ^^ "^'*^'« «"^^*«« decreases as
distance from the centre decreases. How much will a body weigh

TJl7 t ^ *^^ '^'^""^ ^ ^^ "^"«« ^'°°» «*« «««tre of the
earth ? at the centre ?

6 A body weighing at the surface 100«« is carried below the
earths surface till it weighs only 70««. Where is it?

7. As bodies rise above the earth's surface they decrease in weight
according to the square of the increase in distance from the earth's
centre How much does a 100 lb. ball weigh 4000 miles above the
earth (*•«. 8000 „iies from the centre)? 12,000 miles from the

To J^'^ ""^^^^ ^'^^^ *^^ '"'^^^^ ? 8000 miles from the sur-
face? 12,000 miles from the surface?

8. How far away from the earth's surface must a 49 lb rock be
earned to weigh only 1 lb. ? (Notice that in the above law the
distance is reckoned from the earth's centre.)


